Subject : CE 101 :- Economics.
Assignment : 1

(1) Explain the law of demand with its assumptions and exceptions.
(2) Explain meaning and characteristics of an indifference curve.

Assignment : 2

(1) Explain meaning and various types of price elasticity of demand.
(2) Explain the law of variable proportions.

Subject : CE 101 :- Economics. (}&2U1)
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semester-1 2020-21

Human Resource Management (CC-102)
ASSIGNMENTS
ENGLISH MEDIUM
Assignments-1

(1) Describe various stages in scientific process of employee’s selection in detail.

(2) Explain the difference between personnel management and human resource management.
Assignment-2
(1) Explain in detail the concept of ‘quality circles’
(2)What is meant by the term ‘morale’?give reasons for low morale of employees.
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R.J.Tibrewal Commerce College
F.Y.B.COM — 2020-2021
SEMESTER-1 ASSIGNMENT- 1 and 2

CC 103 — ACCOUNTANCY-I
ASSIGNMENT- 1

Achal of Ahmedabad entered into joint venture with Bharat of Bharuch to
purchase and sale mobile phones with an understanding to share
profits/losses in the ratio 1:2. Achal brought Rs.5,00,000 and Bharat
brought Rs.10,00,000 in cash which was deposited in the Joint Bank A/c.
Achal bought 100 mobile phones at Rs.9,000 each by making payment
from Joint Bank A/c. He paid Rs.16,000 towards freight and Rs.4,000
towards Octroi from his personal cash. Bharat sourced 70 mobile phones
at Rs.8,000 each by making payment from Joint Bank A/c. 10 mobile
phones purchased by Bharat were damaged for which, Bharat paid
Rs.1,250/- per mobile phone for repairs from his personal cash.

Bharat sold 150 mobile phones at the rate of Rs.12,000 per mobile
phone and 10 mobile phones at the rate of Rs.8,000 per mobile phone.
Sales proceeds were received in cash which was then deposited in joint
bank account.

10 mobile phones purchased by Achal were in stock. It was
estimated that Net Realisable Value of these mobile phones would be
Rs.8,000 per mobile phone.

Prepare Joint Venture A/c,. Joint Bank A/c., Cash A/c. and Co-
venturers’ A/cs. Show calculation of value of closing stock.

ASSIGNMENT- 2

Selection of best accounting software — write short note.



R.J.Tibrewal Commerce College
F.Y.B.COM — 2020-2021
SEMESTER-1 ASSIGNMENT- 1 and 2

CC 103 — ACCOUNTANCY-I

ASSIGNMENT- 1
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R J TIBREWAL COMMERCE COLLEGE
DEPARTMENT OF ENGLISH & C.C
ASSIGNMENTS FOR SEM T 2020-21

COMMERCIAL COMMUNICATION I

Assignment I

Q1. Discuss in detail the process of
communication.

Q2. Draft a note on any three objectives of
communication.

Assignment 11

Q 1. Write a note on the Impact, Advantages
and Limitations of e-commerce.

Q 2. Write a note on Services provided as part
of e-banking and Measures for managing e-
banking safely.



R J TIBREWAL COMMERCE COLLEGE
DEPARTMENT OF ENGLISH & C.C
ASSIGNMENTS FOR SEM I 2020-21

GENERAL ENGLISH
FOR ENGLISH MEDIUM STUDENTS

Assignment I

Q1. Write a short note on the title of THE BOY WHO
BROKE THE BANK by Ruskin Bond.

Q2. Discuss the theme of the poem THE ROAD NOT
TAKEN by Robert Frost.

Assignment II

Q 1. What is the lesson learnt from the chapter The
Man Who Redefined Digital Age.

Q 2. How does the poet compare a man'’s first and
seventh age?



R J TIBREWAL COMMERCE COLLEGE
DEPARTMENT OF ENGLISH & C.C
ASSIGNMENTS FOR SEM I 2020-21

GENERAL ENGLISH
FOR GUJARATI MEDIUM STUDENTS

Assignment I

Q 1. How does R K Narayan reflect child psychology
through the character of Swaminathan in the story
Father’s Help?

Q 2. Why does the traveller in Stopping by the

Woods on a Snowy Evening decide to move on?
What is the message of the poem?

Assignment II

Q 1. Why are the commuters in Father Returning
Home silent?

Q 2. What was the purpose of launching Digital
India?



R J Tibrewal Commerce College

Vastrapur Ahmedabad
F.Y.B.Com Semester I (2020-21)
CE 101-A Financial Accounting I

Assignment 1
Vidhatree Ltd. issued 50,000 equity shares of Rs.10 each at a
premium of Rs.2 per share payable as under:
On Application Rs.2
On Allotment  Rs.5 (including premium)
On First call Rs.3
On Final call Rs.2

Applications were received for 75,000 shares, Out of which applications for
15,000 shares were rejected fully and their amount was refunded. Allotment
was made on pro-rata basis  to the remaining applicants. Excess money
received with applications was adjusted against amount due on allotment.

Shreyansh to whom 1,000 shares were allotted on pro-rata basis, failed to pay
allotment money as well as first call, so his shares were forfeited before making
final call.

Bhagyashree who had applied for 1,200 shares failed to pay first call as well as
final call, so her shares were forfeited after final call.

Out of the above forfeited shares 1,500 shares were re-issued to Rajvi as fully
paid up at Rs.9 per share as fully paid up, which includes all the forfeited
shares of Shreyansh.

Pass necessary journal entries in the books of Vidhatree Ltd. for above
mentioned transactions.



R J Tibrewal Commerce College

Vastrapur Ahmedabad
F.Y.B.Com Semester I (2020-21)
CE 101-A Financial Accounting I

Assignment 11

Manisha, Apeksha and Upeksha are partners sharing profit and loss in the
proportion of 2:2:1 respectiveiy.

Their Balance Sheet as on 31% December 2020 was as under:

Liabilities Rs Assets Rs
Capital:

Manisha 1,50,000 Building 3,00,000
Apeksha 1,25,000 Machinery 1,25,000
Upeksha 75,000 Stock 75,000
General Reserve 37,500 Debtors 1,03,750
Secured Bank | 1,00,000 Cash 16,250
Loan

Apeksha’s loan 72,000 Profit & Loss A/C 50,000
Creditors 1,10,500

Total 6,70,000 Total 6,70,000
Assets Realised:

First Instalment Rs.1,62,500
Second Instalment Rs.90,000
Third Instalment  Rs.98,750
Fourth Instalment Rs.1,22,500

The amount of Rs.37,500 was kept as realisation expenses reserve. Actual
realisation expenses amounted to Rs.30,000.

From the above information, prepare a statement showing piecemeal distribution of
cash among Partners as per “Surplus Capital Method” or “Maximum Loss
Method”.
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R. J. Tibrewal Commerce College, Vastrapur, Ahmedabad.

Department of Statistics

Semester — 1

Assignment 1: Linear Correlation and Association of Attributes

Q.1 Obtain Karl Pearson’s correlation coefficient for the following data and interpret its

value. Also check the assumption of significant correlation between population variables.

(Year —2020-21)

Price/unit (Rs)

108

15

10

12 |16

10

7

14

15

Daily Demand (Units)

25|28

20

22

23 |19

25

29

24

23

Q.2 How association of attributes differs from correlation?

In city X, six lakh people were educated, and of them one lakh people were post-
graduates and among them ten thousand were doing business. Out of remaining five lakh
educated people eighty thousand were doing business. In city Y, five lakh people were
educated and of them eighty thousand were post graduates and among them eight
thousand were doing business. Out of remaining educated people, eighty thousand were
not doing business. For both the cities, find Yule’s coefficient of association between

people doing business and post-graduates.

Assignment 2: Linear Regression

Q.1 From the data given below, obtain two regression lines and also find best estimated

value of x when value of v is 200 units.

y
X 50-80 80-100 100-150
10-15 8 2
15-20 11 3 3
20-25 1 6 7
25-30 4 5

Q.2 A student has obtained two regression lines as 2x — 3y + 4 =0 and -5x + 4y -8 = 0.

Find the followings
(1) mean of variables x and »

(3) variance of y when variance of xis 9

(2) value of correlation coefficient
(4) estimated value of ¥ when x = 5.




R. J. Tibrewal Commerce College, Vastrapur, Ahmedabad.
Department of Statistics
Semester — 1 (Year — 2020-21)

Assignment 1: 3ul AsAoiy wal ARl iy
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X 50-80 | 80-100 | 100-150
10-15 8 2
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20-25 1 6 7
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R J TIBREWAL COMMERCE COLLEGE, VASTRAPUR, AHMEDABAD 380 015

FY BCOM
SUBJECT CODE: - CE101 D
SUBJECT: - Internet and Webpage Development using HTML
SEMESTER I
(2020-21)

ASSIGNMENT: -1

Q. 1 Write note on (Excel)
(a) OSI Reference Model
(b) (i)Elements of WWW (ii) E-mail

ASSIGNMENT: -2

Q. 1 Explain Following .

(a) All <table> tags with example. Write HTML program to display
Railway Time table.

(b) Explain <Frame> and <Frameset> tags with all attributes. And write
HTML program to divide window in following format.




